POLITICAL SCIENCE

Name & Signature of the Invigilator PAPER-II  ICR Answer Sheet No. :
0OCT-14/11
............................................... RollNo. :
Roll Number in Words @ ......o.oeveeveeeeeeeeeeerrcn,
Time : 1.15 Hours| No. of Printed Pages : 24 [Maximum Marks: 100

Instructions for the Candidates

.o.)l\J»—-

oG =3 h Lh

9.

10.
11.
12.

Write your Roll Number in the space provided on the top of this page.

This paper consists of fifty (50) multiple choice type questions. All qucglmns are compuisory.

At the commencement of examination, the qucslmn booklet will be given to candidate. In the first 5 minutes, candidate is requested

{o open the booklet and compulsorily examine it as below :

(/) To have access to the question booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker-seal and do not accept an open booklet. }

(/) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty
booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced
immediately by a correct booklet from the invigilator within the period of five minutes. Afterwards. neither the question
booklet will be replaced nor any extra time will be given.

(fify  After this verification is over, t}lL test booklet number should be entered in the ICR answer sheet and the ICR Answer Sheet
number should be entered on this test booklet.

Each item has upto four alternative responses marked (A). (B), (C) and (D). The answer should be a capital letter for the selected

option. The answer letter should entirely be contained within the corresponding square.

Correct method A " Wrong method OR A

Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under Paper 11 t;ﬂ):

Read instructions given inside carefully.

Rough work is to be done in the end of the booklet only.

You have to return the original ICR Ansaer Sheet to the invigilators at the end of the examination compulsorily and must not carry
it with vou outside the examination hall. You are, however, allowed to carry duplicate copy of ICR sheet and test booklet on
conclusion of the examination.

Use black ball point pen.

Use of any Caleulators or log tables or any other electronic devices is prohibited,

There shall be no negative marking.

In case of any dleueranC\ in (TUJBI‘Z!H and Enghsh  version of questions the English version should be taken as final.

ylanella W2 Y-l :

l.
2.

3.

8

Lo,
(R
12,

i1 Ll 2z esilddl ol dMIRT Liariei @ul.
U USAYAH] ol s[eus Gr Tl uuiadl sa v (40) uadl sulal s, oial o wedl s 2 Brud &,
ylatdl wgmtanl GReara A uedayEas sunami »uadl. wesiy BRe e, G3ea1 ueyRa st vid] 27 s 2 Braqud 13
Yorol WlEEL s
() weyRetstiani sz iz i 592 Yol alz vz vule dld s181 i sidum doonxl Ala wlse o1zl 3 veel usyfast
el Adl
() 59 Y6 UR st TR ueyResi-it weedl yoel vid v sraietr sl dl. villy s ueayRest 3 iyl viisst
WL, 6L Al B9MIAL L, PirdsHHl vIEAL SIS 2 535 wld vald siTus 518 iy sd sy B st el siadl bl 209 o8 vislysd
syl st oll eiy ol FElas well g Za o olles Wil wadyfd s qadl @dl. »i iz Glsaiz A uian BResd 2aH4ouol sira i
witdl, wdlell, wsy s sedalHl vl Al Si0 el -l A WL s viad Al
(i) 2 2Ase(l Aind el 22 YR st AetR ICR oot WA SHT Euiel 317 ICR %Sl Unts wio12 Wed sl Uz dvdl.
Metls Woet H12 212 Bt [AseU (A), (131 (C) L (D) LU wuce 6. udedll-l el Hist »idiee FUlzd Houaz al2l o e, e
s3e wigio dUled wiax v e vt dysl 218w onu o Fld awel,

A A . A widl {ld ] el

L s Y [Fel st el et pietotell UM BUdd ICR %ol AsH Tuz—3 avid [@eudm] % duiat .,

2ie 2 e AUl sy s Qjal.

it waAYGetsill vid vile uid 25 sz §.

YA HHY LA o1 Ul @A ICR eiod Yt % d (7180 5 2amuid 2l 2 20 sidus dizoia wlamis] stel oS ssdl
Al u eyl wanente Gzl weyfidst dat ICR waladl-l gltake sidl vidi-l i ad s ud .

Hia s1efl Uefsioll ofig U aryzd],

hesydien vt ni-y A2l dati-l Gudion s Al wad @,

wizl welle 12 A3UE @i wan (. _

MEAY R Sirtl 515 Mol wiegdls w130 518 [RAle HAste e ol {318 azb 1oy sl







Note

g :
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: This paper contains FIFTY (50) multiple-choice and matching questions, each

question carrying TWO (2) marks. Attempt All the questions.

AL UL YR (W0) oyglasallu waedl, WY-vi A RASs sidladiel us-l

€. dHIM Al Fsl duidldl 8. Uds usdddl & () ou B

Which group of organs of the state |

was not propounded by Kautilya as

one of the seven organs ?

(A) Ruler, Minister, Capital

(B) Treasury, Population, Army

(C) Friend, Capital, Treasury

(D) Capital, Enemy, Governor

For Aristotle, the best practicable

state is the one which is :

(A) Balancing oligarchic and
democratic elements

(B) Allowing for the rule of the best

(C) An elected monarchy

(D) An aristdcracy of intellect

Who is the thinker that John Locke

criticizes in the First Treatise ?

(A) Thomas Hobbes

(B) Robert Filmer

(C) Marsilio of Padua

(D) Hugo Grotius
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4. The hallmark of the Hegelian State 4.  &3l[Qu AU Yoo il 69 :
. (A) As3UAL

(A) Uniformity ' _
(B) u[Q21%Udl (Suzerainty)

(B) Suzerainty

(©) wdBisdl
(C) Universality

(D) Particularity (D) l3d3tddl

5. Who, quoting Tucker, said ‘Marxism 5. 2s3+il dtel 2l 5@ An 5§ 3

is beyond Justice’ ? Capfudle Yl u 9?7

. (A) Nozick | (A) WSS
(B) Walzer (B) dien?
(C) Rawls (C) UK

(D) MacIntyre D) AU

6. Who coined the term ‘subaltern’ ? 6. ‘‘yoliced’’ oe-l Gema 518 sul ?

(A)_ Marx (A) HLSA
(B) Lenin (B) ala-
C) L b
uxemburg €) wxAl
(D) Gramsci
(D) ALHAL

Pol. Sec.-11 4
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Sarvodaya is principally associated

with :

(A) M.N. Roy and Ram Manohar
Lohia

(B) Mahatma  Gandhi and
Jayaprakash Narayan

(C) B.R. Ambedkar and Jyotifao
Phule

(D) Jawaharlal Nehru and
Subhash Bose

The thinker who defended papal

supremacy staunchly was :

(A) Dante

(B) Ockham

(C) Marsilio of Padua

(D) Giles of Rome

Post-behaviouralists rejected the

behaviouralist insistence on :

(A) Interdisciplinarity

(B) Value neutrality

(C) Theory building

(D) Empiricism

eled yeucd sidl w8 Asoude

(A) AH. DA, 1Y A AUHAHALER

R
(B) MieL ouel 21 arq U519l AL 1

() o2z, A A wUlldr 1A

$4

(D) Fdledld 83 il YA
o123

Wyl wdlzadidl oo s siel
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(A) el

(B) iy

() Hialledl »iis gl

(D) SUSEU 25 AH

Aq ad-ad, ad-dale-l Ul deid
51y ?

(A) [Qenasiaiql vidaed
(B) Hed flruédl
©) Rgid 1
(D) A Hesdl
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10. The utilitarian understanding of

11.

12.

equality is focused on :
(A) Rights

(B) Resources

(C) Capabilities

(D) Preferences

Which of the following revolutions

was not studied by Theda

Scokpols ?

(A) Russian Revolution

(B) French Revolution

(C) Chinese Revolution

(D) American Revolution

Which of the following statements

about impact of media and

communication is not true ?

(A) Tt cén change opinions

(B) It can occasionally change
Governments

(C) It has no impac_t on opinion

(D) It reinforces opinions
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14.

(D} Paroelial,

Which of the following is mandatory

for a federation ? |

(A) Constitutional division of
powers between the centre and
the states

(B) Dual citizenship of the centre
and the state

(C) Integrated single judiciary

(D) Equal representation of all
states in the upper chamber of
the Central Legislature

According to Almond and Verba,

‘Civic Cu_lture’. in democratic

societies resulted from the mixture

of :

(A) Parochial and participant
political culture

(B) Subject and participant

| political culture

(C) Subject and parochial political
c1..1_1ture

subject and

participant political culture -
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16.

15. Representative democracy cannot

be strengthened by :

(A)

(B)
(C)

(D)

Proportional representation
system

Right to information

Recall of representatives
Giving lower chamber of
legislature a fifteen-years’

tenure

(a) gives assertion and (r) reason for

explanation :

(@) American presidential system
introduces greater
specialisation.

(r)

(A)

(B)

(&)

(D)

American political system is
based on séparation of powers.
(a) and (r) are correct and (r)
is an explanation of (@)

(@) and (r) are correct but (r) is
not an explanation of (a)

(@) 1s correct and (r) is incorrect

(a) is incorrect and (r) is correct
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17. Which of the following is not true  17. ~dalls A¥lau 3ie {lRA-midl 4 [@Quiq

about Judicial Review ? Ay Al 7

(A) It can declare any law of (A) “RjAAMIAL 515w s4eld d
legislature unconstitutional Azoigelly Ae s A B

(B) It is based on checks and (B) d ga Axddll [Rreid 4=
balances AUAY B

(C) It believes that the constitution (C) d 2 Hiddl U AllRd &
is superior to law OLELR Lo, 2L AMLU S14EL 5l

(D) It created an impression that Gl
the constitution is what the D) d-gl 2l oy Glefl ad 3
judges say it is Aol 58 d o el

18. According to Max Weber, which 18, A5 Aol M AU A3 ﬁélii,

f the followi t f ;
0 e following types o sul wsieg 2Alauc auylHs

authority is the basis of modern . N
' el Al Wy o 7
bureaucracy ?
(A)  wsulesiod
(A) Traditional

(B) Charismatic (BY HMlex
(C) Legal Rational ©) sl s
(D) Popular D) disbin

Pol. Sc.-II : 9 [P.T.O.]
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20.

21.

In which of the following systems
of Government is bicameralism an
essential feature ?

(A) Parliamentary system

(B) Presidential system

(C) Unitary system

(D) Federal system

Who classified party system in
si_ngle, biparty and multiparty
system ?

(A) David Easton

(B) Almond and Verba

(C) Maurice Duvergér

(D) Mosca

Which committee of the British
cabinet had suggested the plan
according to which the Constituent
Assembly had been formed ?

(A) Cabinet Mtssion

(B) Cripps Mission

) Mountbatten Mission

(D) Radcliffe Mission
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(A) Aeld ual

(B) Uyl Ul

(C) Ascl ual
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wald adlsze siel 3 ed ?

(A) Slas ren

(B) eU~S A qoil

(€) A gd%R

(D) ™izsl
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22.

(Title of the Book)

This consists of two lists of names
of books and their authors. The
candidate has to match an item in
one list with an item in the
other list and select the correct answer
from the codes given below

List I List II

(Names of Authors)

(i) Working A Democratic (¢) F. Frankel
Constituﬁon . A History and
of the Indian Experience M.S.A. Rao
@) In Pursuit of (b) Granville
Lakshmi :The Political Austin
Economy of the Indian
State |
(iii) Dominance and State {¢) Lloyd and
Power in Modern Susanne
India Rudolf
(iv) Democracy Without {d) Pradeep
Associations Chhibber
Codes :
(@) (1) (i11) (iv)
A) (@) () (®) (d)
B) ®) (©) (a) (d)
€ (@ (b) (d) (c)
D) (o) (b) (@) (d)
Pol. Sc.-I1
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22. ULl 1 ML WRetsidl AL 9 . Uiel

2 4 Auisidl Al 9. oiA "IglpiA
AUl A SISHL Gudlol s arais

quil :

el 1 el R

(Yds alldls) (Avisinl )

@ aslo ¥ sHisles (@) 5. &30S
sidleynq ¢ ul [l ENEIRERET IR
2iis 4 $-sluq Rl
Al RuA

(i) O w2 6z asfll : @) Adla
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$elun w2

Gi) Sl s W2 WA (¢) dlids uA

(Gv) SHiFl [aaGe

S His Slsul AL 25ies
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WA RAUAA
DR
(@) (1) (17 ()
A) (@) (c) (b) (d)
B) @) (c) (@) {d)
) (@ (b) (d) ()
M (o (®) (a) (d)
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23.

24.

In which part and article of the

Indian Constitution, have

Fundamental Duties been
mentioned ?

(A) Part IV and Article 51

(B) Part III and Article 51

(C) Part IV(A) and Article 51(A)
(D) Part III(A) and Article 51(A)
Which writ under the right to
constitutional remedies restricts a
person from acting as an office
holder to which he is not
entitled ?

(A) Prohibition

(B) Certiorari

(C) Quo Warranto

(D) Habeas Carpus

Pol. Sc.-11
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MLAcrl GlELRRAL $UL ML A 56
Sl HNeqd $39A AL S
w8 ?

(A) 3L IV 2 s4¥ 51

(B) ool IIT i1 564 51

(C) oL IV(A) ¥ 544 51(A)

(D) oL III(A) A 54 51(A)

ole LRy, Salorl RS HL 2elddA

DUBI VYAl AWAAL AR5 M
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- 95.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) : The Coﬁstitution
is the expression of the will of the
people, so there must be a provision
to change the Constitution after
every ten as fifteen years.
Reason (R) : The Constitution is

like any other law. It simply tells

us what are the rules and

regulations  governing  the

Government.

Identify the correct answer :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true and (R) is false

(D) (A) is false and (R) 1s true

Pol. Sc.-II
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26. Match List I with List IT and select
the correct answer from the codes

given below :

List I List II
(i) Inclusion of the (@) T4th

word ‘Socialist’ in amendment
the preamble

. (i1} Reservation to . (b) 44th
women in urban amendment
local bodies

(iit) Removal of right (¢) 52nd

to property as a ' amendment
fundamental right

(iv) Restriction to (d) 42nd

join any party after amendment
being e]ecﬁed '
Codes :

@ (T) (i) (iv)
@) (@) (@) (c) (d)
B) (@) (@) (%) (c)
C€) @ () (c) (@)
D ®) (c) | (a) @)

Pol. Sc.-II
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@

(i)

(i)

(iv)

el 4 2 2 ANAl AR SIS Gl
53 wdlo civﬁ :

qiel 1 ylel R
ALl U2oE UM (@ 7441 YR
BlUE $AML vl
w2l w2 wdl (B) 4441 YR
AL A5 |
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AUkl 2lasizAl (¢) 524l YR
oeid 2SR d13
Lol
Zarul u”l siS uwl d) 4241 YaRi
uaHl sl ur [Rdse
sis

@ (if) (iif) (iv)

G-V () (@) (c) (d)
(B) (D) 4 (a) ®) (©)
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27.

28,

29.

Which of the following is not a

feature of Parliamentary system ?

(A) Collective Responsibility

(B) Prime Minister

(C) Fixed tenure of Government

(D) Close relationship between
legislature and executive

Who represents a state in the

National Development Council ?

(A) Governor

(B) Chief Minister

(C) Finance Minister

(D) Leader of Opposition

Which of the following rights are

correctly matched ?

(A) Right to Education—
Manmohan Singh Government

(B) Right to Information—Atal
Bihari Vajpayee Government

(C) Right to Food Security—
Chandra Shekhar Government

(D) Right to Employment—Deve

Gowde Government

Pol. Sc.-11
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(C) il

{3 caldexial sy Aucly uend qaw
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A) Ales wanell

(B) aslM4ld

(€C) ARl [ Yed

(D) HRIRAML 244 512U a2 e
o8
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(A) UFAUE

(B) Huyaiof]

(C)y ~lRuMel+
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Auditor General is scrutinized by :
(A) Cabinet Secretariat

(B) Finance Minister

(C) Public Accounts Committee

(D) Estimates Committee

means :

(A) An employee should receive
orders from one superior only

(B) The number of subordinate
employees that an
administrator can effectively

| handle

(C) The control of supervision of the
supervisor  over the
subordinates

(D) The number of people being

controlled

Pol. Sec.-11 16

30. The report of the Comptroller and  30.

31. The principle of span of control 31

sinzlar wd wi[Ber wrd-ll

sigaladl dlen sidL gl Ay 9 ?

(A)

(B)

(C)

(D)

36142 wRalEy
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M (el ARl
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33.

Panchayati Raj form of rural local
Government was adopted first by (in

the Chronological order) :

(A) Rajasthan and Madhya
Pradesh

(B) Andhra Pradesh and West
Bengal

(C) Rajasthan and Andhra
Pradesh

(D) Andhra Pradesh and Madhya

Pradesh
Who among the following used the
systems framework in his analysis
of Governmental Organisation ?
(A) Philip Selznick
(B) H.A. Simon
(C) Dwight Waldo
(D) Peter Drucker

34. Which of the following opfjorturiitics

is provided by the Appropriation
Bill to the legislatures ?
(A) To discuss the policy and other

matters related to the
expenditure of various
ministries

(B) To change amount of demands

of various ministries
(C) To reallocate the grants of
various ministries
To
expenditure charged upon the

Consolidated Fund of India

(D) vary the amount of

Pol. Sc.-11
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34.

- (O)

sq ALz, dadl el wle

syl duAdaldl Al
Yl 5y sg wud o 7

(A) UAWIA 2, HULBIL

(B) g Mo A ulPay euu

A VA Bi™ U

(D) g ML A HY u%gl

yeuefl afeord A5 gLl
[QeaMaH S8 ALl ?

(A) slely Aco-lls

(B) A2, ASHA

(C) salsfe diesl

D) ez g52

QLA AU B (vl HogR

s ofla) ol 1A eafaanidl 59
das a9 ?

[Qfae vididl v o [avus
v oflot [avuidl 2l

[faa wididl wiowldl 51l
5351

(A)
(B)

Rlaa vidid swdd Tau-l
yrdduell

(C)

sildldes 55 s Slrsulmi
YSal wAHl S8

(D)
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35.

36.

Identify the incorrect statement :

According to Ferrell Heady, the

developing countries—

tA) have imitative and un-
indigenous bureaucracies

(B) do not permit functional
autonomy to their public
services

(C) have administrative services
without administrative
'development

(D) have elitist bureaucracies
which are dysfunctional

The and

science of control

communication is called :

'(A) PERT

(B) MIS
(C) Informatics

(D) Cybernatics
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35.

36.

{3 U4l sy Q@a vig © ?
$3d 88l Hd AR, RAsudla

gl RQd Aaiui :

(A) sl A wdayel

el AL €9

(B) stualcds }ddl QR Aaizia

qodl 4l

(@) adladl Aai 9 ua adlaldl

(s Al

D) w13{qo(fy vy el Lol

HALL AL 9 ¥ s1d g sal
Guyiofl <ol

25U A, Al [QsiAn g sSaml

2§l1d 9 7.

(A) 4 (PERT)

(B) 2. 2U8.34. (MIS)
(0) S-sididlsn

(D) AoRARsA




37.

38.

39.

“Recruitment is the cornerstorie of
the

structure. Unless recruitment policy

whole public personnel
is soundly conceived, there can be
little hope for building a first rate
staff.” This statement is made by :
(A) L.D. White

(B) Hoover Commission

(C) Fulton Committee

(D) Stahl

The institution of Lokayukta was
created for the first time by the state
ot

(A) Odisha

(B) Bihar

(C) Punjab

(D) Maharashtra

(A) Public

Administration can be successful if

Assertion

it is easily accessible to the citizens.
(R)

grievances of citizens is rendered

Reason Redressal of

easier by close contact between
citizens and administration.
(A) Both (A) (R)

and are

individually correct and (R) is

the correct explanation of (A)
(B) Both (A) and (R) are individually
correct, but (R) is not the correct

explanation of (A)

(C) (A) is true and (R) is false

(D) (A) is false and (R) is true
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37.

38.

39.

“ogd R SIS cuaRLAL WAL €9
dl. A sdlHl Hlla @walRud Fd
[Aalatdl 4 2Ud dl MU S8t
UL AB HIZ WA 2L U] a5y
A6l wil [@QaH s sy 7

(A) wd.sl. cwide
(B) g4 sHaq
(C) scet ARl
(D) w4

dlsiysall Al Al wad suL Xl
vu-dl ? |

(A) iRl
(B) Ber
(C) s
(D) SR
A) 1 R § A ®) 4 Al b
&,

(A) 282 ddlaz asu as 93 A A
ARIRSA 2uLlell 3o siu

(R) WL SicAL Uil B3d qudl
2 w% A ARURS A adladlda 9
(Rsedl Aus 8.

(A) (A) 1 (R) 6L 214l 9 244 (R),
(A) < ¥Hd

(B) (A) 17 (R) 6l AAL B ¥ (R), -
(A) A uuAag -l

-

€ (A) WL & A (R) Wig &

D) (A) “ig © 1 (R) AW

[PT.O]




40. Match List I with List IT and select

the correct answer by using the

codes given below the list :

List I

(z) Token Cut

Motion

() Economy Cut

Motion

(zzz) Policy Cut

Motion

Codes :

(A)

(B)
(C)
(D)
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e

@)
(%)
5)
(3)
(3)

(1

(2)

(3)

@

(5)

(if)
(1)
3)
(1)
5)

List IT
“That the amount
of the demand be
reduced by a

specified amount.”

“That the amount

of the demand be
reduced by Re. 1.”
“That the amount
of the demand be
Rﬂducedl by

Rs. 100.”

“That the amount
of the demand be
reduced to upto
Re. 1.7

“That the amount

of the demand be

reduced to upto

Rs. 100.”

(1) .
(2)
(1)
4)
(2)

415+l Guyial $3

ylel 4

G) a4 $2 s

G) Sa-iH se
s34

Gii) Wl

52 89
slS
(2)
A 6
B G
(ORENE))
™ 3

(1)

(2

3)

@)

6)

()

(1)

(3)

(1)

)

40. Y 9 v 98 2 A AAdl. wdlel W2

el 2
Hiowell Aissu sM
Ul gersdl
il 1 3[§nu
gedl aisdl
Hiowell 100 3
yedl gaisdl
Hiowe(l 1 30l yHl
y215d]
wiall 100 3w

el vaisdl

(i)
(2)
(1)
(4)

2)




41.

42.

43.

What led to the democratization of  41.

diplomacy ?

(1) Participation of people in
politics.

(2) Growing importance of public
opinion.

(3) Importance of market.

(4) Erosion of National

Sovereignty.

(1) and (2)

(2) and (3)

(1), (2) and (3)

(2), (3) and (4)

(A)
(B)
(®)
(D)

“The Modern State has become a 42.

trading State.” This statement is
ascribed to :

(A) Robertl Gilpin

(B) Immanuel Wallerstein

(C) Susan Strange

(D) Richard Rosecrance

Idealism was a dominant theory  43.

during which period ?

(A) Post Cold War Period

(B) Cold War Period

(C) Between Two World Wars
(D) During Medieval Age
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(A

Yaeldlld, alsadlse well uy ?
(1) wstaml diseielelldl

(2) &R Hdrll dudl Hecadl

(3) ol Hecd

(4) Wl adelinc eaiell

(A) (1) 21 (2)
(B) (2) ¥ (3)
©) D), () 2 (3)

D) (2), (3) i+ (4)

“ags 2w B AL AR oY
9.7 vy e s usd sul ?

A) e ofladl

(B) SAyd dd264

(C) YRl %
D) s AASIA

ledalel Rgld sul uuy 3
UM gRlddl gdl ?

dlld Yaeil id uggll AHuMl
B) dygrl qHuHl
() & [@rayg qA-L AHUML

(D) HeyoLML
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44. New International Economic Order

45.

46.

was a result of :

(A) Success of UNCTAD

(B) North-South dialogue

(C) Creation of G-77

(D) Politicisation of development
issues

The USA is described as a ‘hyper

power’ because :

(A) It has many nuclear weapons

(B) It has weapons with the latest

technology

(C) It has immense economic power-

(D_) It is comprehensively powerful
Which of the following is not a UN
agency ?

(A) UNESCO

(B) Economic and Social Council
(C) Trusteeship Council

(D) World Bank
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44.

45.

_I(B)

I

Adl vid gl 2URLs el Aui

e ?

(A) ¥iv52lS (UNCTAD) Il asndy

G A el Yale

(©) ®~77 {l 2L

(D) Ul [ElélQ{"'l.L Wiy
AXSUSQL |

YA A SLSUR wdR’ (vt H{idl
Atl) A3 deuadHl 0 D s12
5

A) d-dl WA um qQABALL S

B) ddl WA Bedl
2selldimalnl well B

(© Al WA vor 2uls ala

M) a-dl wA ¥all ¥ uda{ly uxl
£

sel

A UL 56§ Y5t thgélﬂ"ﬂ al
9l ?

(@) Y251

(B) Ssi-iMs vi-s ANua 516
(C) 2¥llly s1GRie

(D) [Qaqols

L



47.

48.

49.

50.

The author of ‘Beyond the Nation
State’ is :

(A) Karl Deutsch

(B) David Mitrany

(C) Ernst Haas

(D) Leonard Woolf

Emergence of South Sudan as an
independent country suggests
success of the concept of :

(A) Human Right_s

(B) Civil War

(C) Religious Freedom

(D) Right to Self-determination
SAARC has not been successful
because of :

(A)
(B) Rivalry between India and
Pakistan
Rule

interference

Limited membership

(C) not permitting

in bilateral
disputes _

(D) Great power friendliness

What is India’s present status in the

UN security council ?

(A) Non-permanent member of
security council

(B) Permanent member

(C) Not a member of the security
council

(D) Non-permanent member for

four years
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47.

48.

49.

50.

[Braies 4 A @2’ Ysel Aus si9L
Q7

A) sid sidy
B) slas ezl
(C) e 81
D) [RAi-us ges

e[BSL Yelt Adat A% oy B sU
vl Asudl Yud © ?

(A) Hidd esl

B) id[aus

©) alBls wdatdl

D) icHFelu-dl a2

AL (SAARC) A2t 5UL SLRVAAR
usa Al wy ?

(A)
(B)

wulled ueu ye

old v ULBrdid ad -l
831510

) [gusll :)’)E_LSI‘{l el A Aaidl
Aail Hax

D) sl Hall

gl warmdl sl etd-l

adHid exwA g4 © 7

A) damdl Al BisiaHl wey
(B) stuHl Aey

(©) AclMdl a[?{[aﬁi Aoy Yl

@) 2z a2 Breisiudl wox

[P.T.O0.]




ROUGH WORK
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